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readlines() Here w1 i whea €2

(A) =TT B f&n e
(C) < (D) fer=
What does readlinés() method return ?

(A) Dictionary  (B), String

(C) Tuple (D) List

fread(5) U% WTEd (file object is ‘f) |
Juiecs veel TG

(A) 5o

(B) 5 %=

(C) 5 st

(D) SR H Y #E &

f..read(S) will read
object ‘f').

from a file (file

_ (A) 5 characters

(B) . 5 words

(C)- 5 lines

(D) None of the above

THeH_ HfmmnmEn g

(A) S ®) C

(C) PHP (D) o= Hft
Python is written in

(A) Java (B). C

(). PHP (D) Al of the above

import it using an

Fr=fafiad g=em wie %1 sT=eye 1 g ?

example = “helle”
example.rfind(“e”)
(A) 1 B 2
© 4 (D) 5

What will be the output of the following
Python code ?

example = “helle”

example.rfind(“e”)

(4), 1 (B) 2

(©) 4 D) 5
frrefafed T@em Fie % dog FR?
>>>print(36 / 4)

(A) 9 (B) 4

(C) 9.0 (D) 4.0

What is the value of the following Python
code ?

>>>print(36 / 4)
(A). 9 (B) 4
{C), 20 (D) 4.0

2 Ao H Tt oiege &1 W w9 %
fag, smysr 3@ wedT W S9Em
FTh THIE HTAT BT |

(A) import

(B) include :

© (&) R (@) A

(D) Sw H § FE &

To use a module in another module, you must
statement.

(A) import

- (B) include

(C), both (A) and (B)
(D) none of the above
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TR B I gEel &1 4 w6 & fau
frefafiad & @ fopw weiten s g feha e @ 2
(A) HUIA Tl (B) =fHe

(C) wrafEm (D) fefagsm

For performing the addition of two numbers,
which of the following symbol in a flow chart
are used ?

(A) Control flow (B) Terminal

(C) + Processing (D) Decision

FR foegwafass 7

(A) = (B) HTd

(© = (D) v e
The br;ai_n of computer system is

(A) RAM (B) CPU

(C) ROM (D) Control Unit

=1 4 @ ®19 W1 (file object ‘f) HT Tyl
W T Te 2

(A) freads() (B) fread()

©) f.readgall) (D) fread(*)

Which of the following will read entire
content of file (file object ‘f’) ?

(A) freads() (B) fread()

(C) fread(all) (D). fread(*)

10.

Trefafad Traem e &1 SSeye =41 8 2

def func(a, b=5, c=10):

print(‘a is’, a, ‘and b is’, b, “and ¢ is’, ¢)

func(13, 17)

func(a=2, c=4)

func(5,7,9)

(A) ais13and bis 15 and cis 10
ais2and bis5 and cis 4
aisbandbis7 and cis 9

(B) ais13 and bis 17 and c is 10
ais2andbis4and cis 4
aisbandbis9andcis 7

(C) ais13and bis17 and cis 10
ais2andbis5and cis4
aisbandbis7 and cis 9

(D) W H ¥ H1E 7

What will be the output of the following

Python code ?
def func(a, b=5, c=10):

print(‘a is’, a, ‘and b is’, b, “and ¢ ig, ¢)

func(13, 17)

func(a=2, c=4)

func(5,7,9)

(A) ais13 and bis 15 and c is 10
ais2andbis5andcis4

aisbSand bis7 and cis 9

~(B)« ais 13 and b is 17 and c is 10

ais2andbis4and cis 4
aisbandbis9and cis 7
(C)" ais 13 and bis 17 and c is 10
‘ais2and bis5and cis 4
aisband bis7 and cis 9

(D) None of the above
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11. 9EeH oae H, k ® Uk ] 9% sgM % fae | 14. TEYH H Numpy W H zeros() HeRM &1 w1
frfafea # & ®F W e wd foaskeq €72 ST 2
(A) kA1 (B) k*1 (A) q‘ﬁm%mﬂ@mﬂm%
(C) k~AI1 (D) k~* fer )
, (B) Wt S Tewe FHY T Higed 0
In pythonl language, WhiC]il of the fp]_lowing ¥ F e
operators is the correct option for raising k to ;
the power 1 ? (C) el Ul % e T Hfes 0 a9 H & fog
(A) kA1 " (B). k1 (D) W H 9 HIg &
(C) kAAl D) kA4 What is the use of the zeros() function in
Numpy array in python ?
(A), To make a Matrix with all element 0
12. Soits 57 T a9 A S Y (B) To make a Matrix with all diagonal
) R 3 1 t0
V@ T TeHe IS € W SERTE Bl © ;eme; MPSIDTRDy
LT R S . To make a Matrix with first row
(D) None of the above
(A) break (B) pass
(C) continue D) TRAFE |15 Frfafed s w1 smsege w 7?2
: def s(nl):
A _______ statement is used when a £
statement is required syntactically but you do print(nl)
not want any code to execute. nl =nl +2
(A), break (B) pass s
' , s(n2)
(C) continue (D) none of these print{ri2)
(A) 64 (B) 46
13, WiHERR % faw & e w01 § SR S % i
VT T WoRE fae S E 2 What is the output of the following code ?
: def s(nl):
(A.f e (B) eftad print(nl)
(C) smefea (D) foemmm s
n2=4
In which software development phase quality s(n2) >
of software is documented ? .
print(n2)
(C) Idea (D) Development (C) dd (D) 66
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16.

a=5, b=8 c=6 & fau fr=fefan weiifem =
3TSTYE 1 B 2
Step 1 : Start
Step 2 : Declare variables a, b and c.
Step 3 : Read variables a, b and c.
Step4:Ifa<b
Ifa<c
Display a is the smallest number.
Else
Display c is the smallest number.
Else
hEhxg j
Display b is the smallest number.
Else
Display c is the smallest number.
Step 5 : Stop
(A) a 998 B &R
(B) b We¥ B dEm ¥
(C) c v a9 BId gem
(D) stop
What will be the output of the following
algorithm for a=5, b=8, c=6 ?
Step 1 : Start
Step 2 : Declare variables a, b and c.
Step 3 : Read variables a, b and c.
Step4:Ifa<b
Ifa<c
Display a is the smallest number.
Else
Display c is the smallest number.

Else
kb=«
Display b is the smallest number.
Else
Display c is the smallest number.
Step 5 : Stop

- (A)~ ais the smallest number

(B) b is the smallest number
(C) cis the smallest number
(D) stop

17. Trafafes w1 ssege @ dm 2

18.

19.

print(sum(1,2,3))

(A) © Error . (B) 6

€ 1 (D) 3

What will be the output of the following ?
print(sum(1,2,3))

(A) Error (B), 6

© 1 (D) 3

frafafen § 4 frad 31 e w1 € gufsa
fepa < &2

(A) e

(B) TR

(C) ST I

(D) S & § 1S T

In which of the following, data is stored
permanently ?

(A) Variable

(B) File
" (C) - Both of the above

(D) None of the above

Tl T ¥ R R ¥

(A) wfha (B) wHIEgYS
(C) =rwe (D) SWiE g

The connector symbol for flow chart is

(A) | Circle (B)
(C) Diamond

Parallelogram

(D), All the above
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20.

2]1.

JC% 10

TeIrHe H J1 Aokl I Wren o et YoliensT %
wﬁ%&uﬁmmﬁnﬁmm%?"

(A) (B) Hfdhw

(©) i (D) FHRREGHS

EIE
Which symbol is used as a flowline to connect
two blocks in a flow chart ?

(B)
(D) parallelogram

(A)s arrow circle

(C) Dbox

Frefafaa #re &1 s=ege T §2
import numpy as np

a = np.array([1,2,3,5,8])

b = np.array([0,3,4,2,1])
CRAS D

c=c*a

print (c[2])

(A)

10 2

(B)
(D) 28

What is the output of the following code ?
import numpy as np

a = np.array([1,2,3,5,8])

b= np:array([0,3,4,2,]])

e=a+b

c=cta

print (c[2])

22.

<o

.(B)

Frefefiad 9 § 9 @1 Atege =1 S9E w5 &5

GIEECEY

(A) Y e F TF: STANT S Th GIEH TS0
T &

FR ® WS F9 & T 9eE TH
EaGIR

(B)

T & TR 1 HH HE H TH G
TS T &

HITH o STeTT- 376 fewdl & Tderr o we
IEA 98H I §

(©)
(D)

Which of the following is not an advantage
of using modules ?

(A) Provides a means of reuse of program

code
Provides a means of dividing up tasks

©)

Provides a means of reducing the size
of the program

(D) Provides-a means of testing individual

parts of the program

Frefafen T #ie &1 eseye == 8 ?
tuple1=(5,1,7,6,2)

tuplel.pop(2) -

print(tuplel)

(A) (51,6,2) (B) (5,1,7,6)

(© (51,762 (D) Error

What will be the output of the following
Python code ?

tuple1=(5,1,7,6,2)

“tuplel.pop(2)

print(tuplel) ’
(A) 10 (B) 21 (A) (5,1,6,2) (B) (5,1,7,6)
(© 12 (D) 28 (C)* (5,1,7,6,2) (D) Error
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24. NumPY %1 qf &9 &2 27. fr=fatea 4 § &9 @ feaeiem mom &2
(A) ';:ia'ﬁ-rl- qEY " B ‘(A) x=2 (B) x=3
, (©) <97 =5 (D) T 9 A &
LN KLl Which of the following decIaratlons is
(C) Taftewer w=eH incorrect ?
; , (A} k=2 (B) x=3
(D) SR H 9§ #E 7 NGk Sz =5 . (D) Nobe of these
NumPY stands for : ‘
ﬁ'l:fma fTye ?
(A) Numbering Python H T IS e 1 sTsege 7o g
print([ilower() for i in “HELLLR
(B) Number In Python (A) hello
{C) Numerical Python (B}« 1, e, T, T, o]
(D) None of the above (C)  hel
(D) HELLO
; What is the output of the following code
25, HRIT S W H adum feafy SmPI’(‘FtI? 0f “HELLO])
TR T R print([i.lower() for i in “HELLO
¢ (A) hello
(A)  get() (B) tell() B) Iy, e o
(©)  seek() (D) cur() (C) hel
(D) HELLO
———__ function returns the current
position of file pointer.
29. fTrfafen &1 smsege =0 ¥
(A)  get() (B).  tall() i
(C) seek() ‘ (D) cur() ke g0,
el
26.  ferfde derm 2l sl
continue
(A) TH HRM St W I Fed 6 S ~ print(n) g
: ! . 5 A) 54310 (B) 4310
B R ST T T A e e ( :
Bh B (C).. 432 (D) 9 9 i 7
(C) (A) 3R (B) ﬁ‘ﬁT What is the output of the following ?
; ; n=>5
AR R el while n>0:
Recursive function is n-=1 ;
(A), A function that calls itself if n==2: -
tin .
(B). A function that calls other functions ;2;“::)6 ‘
(C) Both (A) and (B) CA) 54310 (B) 4310
(D) None of the above (C)e 432 (D) None of these
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30. If% Wizd HiSE & T A HA W OHe T % | 32, Frafafen qwem e @ seege = 22
TRIEE ST € 7 ey >>>print(5*(2/ /3))
(A) 3 = (B 3
(A) TEHE () 0 (D) error
®) e e What is the output of following Python
code ?
(C) stivE Hre >>>print(5%(2//3))
5 - e (B} 3.3
(D) (A) 3R (C) TF Q. 0 (D) error
Which mode creates a new file if the file does | -
M el 33. Trafafen =R #is &1 1=eye =& e ?
. d1={"abc”:5,” def”:6,” ghi”:7}
(A) write mode print(d1[0])
(B) read mode (A) abc (B) 5
(©) {“abc”:5} (D) Error
(C) append mode What will be the output of the following
th de ? |
(D), Both (A) and (C) A ]
d1={"abc”:5,”def”:6,” ghi”:7}
print(d1[0])
e : (A) abc (B) 5
31. frafafaa #ie 1 A=eqe 1 ©Q (abe’s) (D) Error
a = np.array([[1,2,3],[4,5,6]])
: 34. Tr=fafea #ie & fag sm=ege =0 & ?
print(a.shape) 2
import numpy as np
(A 42, 3) B) 3.2 ary = np.array([1,2,3,5,8])
2 ary =ary +1
NO), LD (D) ¥ A FE T print (ary[1]) -
What is the output of following code ? e 0 B .
) 2 (D)3
import numpy as np What will be output for the following code ?
a = np.array([[1,2,3],[4,5,6]]) import numpy as np '
ary = np.array([1,2,3,5,8]) =
print(a.shape) ary = ary +1
A @3 ® 62 T
(A) 0 (B) 1
(Clsil, 1) (D) None of these (C) %2 (B 3
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35.

36.

(@A)

(A)

Frefafea ¥ @ # v i key=tiger % foTq
F-3g P 2 Feche wm? —
dic={"lion":"wild”," tiger" " wild” " cat’ " domestic”,
“dog”.” domestic”}

del dic[“tiger”]

dic[“tiger”].delete()

©) delete(dic.[“tiger”])

(D) del(dic.[“tiger”])

Which of the following will delete key-value
pair for key="tiger” in dictionary ?

(B)

dic={"lion""wild", " tiger”"wil ", cat”” domestic”,
“dog”.” domestic”}

del dic[“tiger”]

dic[“tiger”].delete()
delete(dic.[“tiger”])

del(dic.[“tiger”])

(B)
©
(D)

frfafed wie faie =1 smeege @ g2
d =3, 4,5}

for k in d:

print(k)

(A) {3,451 {3,4,5) 3,4, 5

(B) 345

(C), Syntax Error

(D) ST H q g

i

37.

X Tl ST FATE?

- import numpy as np

38.

a=np.array([1,2,3,4])

x= a.tolist()
(A) int (B) array
(©) tuple (D) list
What is the dafatype of x ?
import numpy as np
a=np.array([1,2,3,4])
x= a.tolist()
(A), int (B) array
(©) y tuple (D) st
frfefen wraem #ie @ s—ege w1 2o
def display(b, n):

while n>0:
print(b, end="")
n=n-1

display(‘z’, 3)
(A)
(B)
©)
(D) An exception is thrown

What will be the output of the following
Python code ? .

ZZZ
ZZ

Infinite loop

What will be the output of the following code def display(b, n):
snippet ? while n>0:
d = {3, 4, 5} print(b, end="")
- for kin d: n=n-1
print(k) display('z’, 3)
(A) 3,45} 3, 4,5} 3, 4, 5) \(A), zzz
(B) 345 (B) zz ‘
(C) Syntax Error (C) Infinite loop
(D) None of the above (D) An exception is thrown
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39. frafafeg wele® £ F=nE? 42, TrafafEa @Ym #i &1 T=eye =1 g 2
fzopen(”Data.tXt”, ﬂr”) - ‘ .-(:. Ien([”helloﬂfzy 4’ 6])
(A) PR () (A) Error (B) 6
C wUE (D) WEA gt
P ®) <C 4 (8
What is ‘f" in the following statement ?
" . What will be the output of the following
f=open(“Data.txt”, “r”) Python code ?
(A) File Name (B) File Handle o
(C©) Mode of file (D) File Handling el 4, 60
(A) Error (B) 6
40. fo= 19 = Tade (5) Sied & fag heRm &1 ©), 4 (D) 3
ELRILURERIES I &
(A) listl.sum(5) - &
(B) listl.add(5) 43. T % T A T LA
T ST € |
(C) listl.append(5)
(D) listl.addelement(5) (A) e (B) =hiHl
Which function is used to add an element (5)
in the list] ? (C) BT (D) R
(A) listl.sum(b) The contents inside the “for loop” are
(B) 115t1&dd(5) SeparatEd by :
(C) listl.append(5) (A), colon (B) comma
(D) listl.addelement(5) (C) semicolon (D) hyphen
41. STSTYE FAT T ? e _
Y=[2,516] 44. wI WE W UG/ SEHE Udlh w1 STEM
o % ferg foan s @
Y.sort()
(A) -[2,6,5]] (B) [51,2,6] (A) o (B) fefasm
(C) Error (D) [6,5],2] © S D) e
What will be the output of following ? :
Y=[2,5],6] Kite/diamond symbol in flow chart is used
o for 1
Y.sort() -
(A) _[\6 571 ®) [51,26] (A). Execution (B), Decision
(Cyr Ertor, (D) [6,5],2] (C) Statement (D) All of the above
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45.

~ (B)

Hﬁhaﬁaﬂwaﬂﬁmaﬂ‘mhn___
foha ST 2

(A) SETR I
IR HiféT
(C) Fafeed wiequ
(D) S9U=q wadt

Flow charts and Algorithms are used for

(A) Better Programming
(B)
(C) Systematic testing

Optimized Coding

47. TR TRRE A& arr=[(1,1), 2,2), (3, 3)] 7

- (4)
(B)

9T i eI :
=t & ey
(C) TUuew =t Wt

(D) MM &R

What type of data is :
(3 3)]?

(A) List of tuples

(B)  Tuples of lists

(©) » Array of tuples
(D) Invalid type

aer = {1, 15, @, 3, )

48, ﬁvrf‘aﬁaaffﬁaﬁ?@ﬁtimﬁwmﬂﬁ%?

(D) , All the above G % :
. (C) fefaem (D) =78 ¥ =i &
Which of the following is not a control i
46. T F W= F T fore o e Wi structure ? N
' (A) Loop (B)- Process !:
(A) T SIR forem AT smfadg ) Dasioni (D)  None of these }
(B) 3T srafedia & wafs foey *
TR & 49. Th___ Y R uME Y st ASCIT
‘ 1 TS Uit T i % w F wufed
(©) TToH iR forew 2T ftadstie & 7l
(D) 37w uRadwefia 9 & wafs o (A) = FEE
UREdT gt & (B) ¥ wEa
Choose the correct option with respect to © (4) sk (B) =t
Python. ] (D) T FIE T
(A) Both tuples and lists are immutable A stores information in the
' _ LT form of a stream of ASCII or unicode »
(B). Tuplisl are immutable while lists are characters i.e. human readable.
e B (A)r Text file
(C) Both tuples and lists are mutable (B) Binary fﬂe
(D) Tuples are mutable while lists are (C)  Both (A) and (B)
immutable (D) None of these
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50. %S ¥ Tl A TR F & faU SiF W
W TR §7 ¢

(A) from package import all

(B) from package import *

(C) from package include all

(D)

from package include *

Which statement is correct to import all
- modules from the package ?

(A) from package import all
« (B) from package import *
(C) from package include all

(D) from package include *

51. ﬁwfaﬁm HIe & Tau s8eye =1 B ?
import numpy as np
a = np.array([[1,2,3],[0,1,4]])
print (a.size)
(A) 1 “(BFT 5
0 (D) 4
What will be output for the following code ?

import numpy as np

a = np.array([[1,2,3],[0,1,4]])

52. TyeAfafaa ©eie %1 s8eqe =0 g ?
>>>"m"”+"nl” )
(A) ‘mnl
(©) ‘mnl

What will be the output of following
statement ?

(B) ‘mnl’
(D) ‘m’

>>>II m.” +Ifnlfl
(A) “m+nl
(C) ‘mnl

(B)y ‘mnl
(D) ™’

53. TerarR # omseye w1 frefua W & fau

Frefafes ® @ frm fawe &1 v ok s €2
(A) =& (B) Gihet

(C) wHRIEgYS (D) Ao

Which of the following symbols is used to
represent output in a flow chart ?

(A) Square (B) Circle
(©). P.arallelogram (D) Triangle

54, frefafEd TaEds o1 SESqe &1 B ?
x=14
print(x>>2)
(A) 14 By -1
[ @y 2

What will be the output of the following
expression ?

x =14 ¥

prin't (a.size) * oimitoe>2)
(A) 1 (B) 5 (A), 14 (B) 1
()4 6 (D) 4 © 3 D) 2
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55. FreAfafed # 4 I W s e A w1 | 58, @ W e wew W aem et § 10
HiaE el & ? - ko LSS o S
(A) wval (B) raise (A) fiseek(-10, 0) ’
(C) ty (D) with
" Which of the following words is not a () Treskio )
keyword of python language ? (C) f.seek(-10, 1)
(A) wval (B) raise : :
C) try (D), with (D) SR W
Which statement will move file pointer 10
56. Frfafad #re =5 SR T &2 - bytes backward from current position ?
import numpy as np ' (A) f.segk(—lO, 0)
a = np.array([1,2,3]) (B) f.seek(10, 0)
print(a.ndim) (©), fheek(-10, 1)
(A) 1 (B) 2
) (D) 0 (D) none of the above
What is the output of the following code ?
G L 59, aﬁqm@zﬂzwsa (file object is ‘f') ¥ Wk dfer
a = np.array([1,2,3]) w2
print(a.ndim) - ' &
(A), 1 (B) 2 (A) freadlines() (B) freadline( )
© 3 (D) © (C) fread() (D) fline()
Which statement will return one line from a
57. frfafen 9o HIS #1 S8 #1 g 2 file (file object is ’f’) ?
ereestl =1L o (A), freadlines()  (B) freadline()
>>>list2 = listl :
>>>1ist1[0] = 4 (C) fread() (D) fline()
>>>print(list2) e
S B A 60. Frefafed 4 4 % e & ok o sty
© [4 3] D) L, 3] P
What will be the output of the following '
Python code ? LAY "/ B ?
>>>list2 = list] ‘ 2
>>>1ist1[0] = 4 Which of the following is a valid arithmetic
sl operator in Python ?
>>>print(list2) :
(A 1,4 (B) 134 (ol /7 @ *
© [43] (D). [1, 3] © < (D) and
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61. TrafelEd S #1 AR FM T ? 63. Trefafaa %1 e # 7
a = set(‘abc) ” print(max([L, 2, 3, 4], [4 5, 6], [7])
b = set(‘cdef’) (A) 1[4 5,6] B) [7]
print(a&b) © 1,23 4] (D) 7
Ay {c} What is the output of the following ?
(B) {a.,b/c,/d/¢/f} print(max([1, 2, 3, 4], [4, 5, 6], [7]))
S ‘ (A) [45,6] < BYI7]
(D) T § i T © [L23 4] D) 7
What is the output of the following code ?
o Se:gaﬁc’;) 64, ST RS B YA g e F At 72
= set(‘cde :
print(a&b) (A) T foeiw =l
(A) [} (B) ! UReY H fEH S i HHN H W@ S
(B) t’ {Iat’lbl’lcl’ld”’el’!ft} %_
© { (C) TUHHITERTE Y&
(D) None of these D)
62. Trefafad =ie e =1 fiz som ? ¥n whic.h format Binary file contains
if True or True: information, ?
if Falseu :ﬁd True or False: (A] Suigls resposse codn
print(‘A’) ' (B) Same format in which the data is held
elif False and False or True and True: (©)+ islg;izg;at
int(‘B’
BEniD) (D) Unicode format
else:
print("C’)
else: 65. Trfafien g=em wre #1 S=eye 1 Brm ?
print(‘D") from math import *
A) A (B} .. B floor(11.7)
© c D) D LAY 12
What will following code segment print ? By 1
if True or True: ~ (C) 11.0 !
if False and True or False: (D) T ¥ &
print("A”) y _
elif False and False or True and True: ‘I/-‘\;};}?;nwclii:i O
Jigs gl from math import *
s inl floor(11.7 ,
. print(‘'C’) (A) (12 )
else:
T " B 11
print('D") (C?K b
NA) A '(B) B oL
; (C) (& (D) D (D) None o ese
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66.

67.

68.

(B)

&% T HT Wi 1 ST T8
Teran s |
(A) T HEE A TN
T ST 9T T GO HE
(C) SYANTHA H MRYE YeH FH
(D) = FoR Sired

The sequence logic will not be used while

(A) Subtracting two numbers

(B)
(C) » Providing output to the user
(D)

Comparing two data values

Adding two numbers

TEH e # o faed & o fre v @
U fofa ST 7 2

- (A)  write (B) writelines
(€) dump (D) pickle

Which function is used to write data in binary
mode ?

(A) write
(C) dump

\(B), writelines
(D) pickle

wo & fordl Tt e 1 W5 He F wiew w0 |

Hfe F ¥, S o T @ e E Y e
it TR e Xt 2

(A) File Found Error

(B) File Not Exist Error

(C) File Not Found Error

(D) W= H ¥ FE T4

Which of the following error is returned when
we try to open a file in write mode which
does not exist ?

(A)~ File Found Error

(B) File Not Exist Error
(C) File Not Found Error
(D) None of the above

b

69.

«Integer a, b

70.

frrfefe wEiwrs #1 smRege @1 g2

Seta=10,b=>5
a=amod (a- 6)

b =bmod (b-2)
Printa-b '
(A) 4 (B) 0
© 1 (D) 8

What will be the output of the following
pseudo code ?

Integer a, b
Seta=10,b=5
=amod (a-6)-"\
b=bmod (b-2)
Printa - b
(A) 4
). 1

(B 0
(D) 8

frfafen wEee w1 seege =0 em, wwt
ANd STRY %1 Ffdffece e 2
Integer a, b, c

Setb=5,a=1

c=aé&b

Print ¢

(A) 1 B 3
(© 5 (D) 7

What will be the output of the following
pseudo code, where & represent ANd
operation ?

Integer a, b, ¢
Setb=5,a=1
c=a&b
Printc

(A)- 1

(S

(B) 3
D) 7
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‘71, Trefates #1 sseye = e ? 73. Trfafen e fote 1 smsege =0 dm?
' ¥ “ numbers = (4, 7, 19, 2, 89, 45, 72, 22)
x=123 : »
sorted_numbers = sorted(nur_nbers)
foriin x: odd_numbers = [x for x in sorted_numbers if
_ x % 2 1= 0]
print(i) print(odd_numbers)
(A) [7,19, 45, 89]
(A) 123 (B) 123
(B) [2 4,22, 72]
(C) Error (D) T QHE & (©) [47,19 2,89, 45,72, 22]
(D) [2,4,7, 19,22, 45, 72, 89]
What is the output of the following ? What will be the output of the following code
snippet ?
=123
x numbers = (4, 7, 19, 2, 89, 45, 72, 22)
for iin x: sorted_numbers = sorted(numbers)
odd_numbers = [x for x in sorted_numbers if
print(i) x % 2!=0]
: print(odd_numbers)
(A) 128 (B) 123 |
(A), [7,19, 45, 89]
(C) Error (D) None of these (B) [24 22,72]
©) 4719 2 89,45, 72, 22]
(D) [2 4,7, 19,22, 45, 72, 89]
72. Trefafed o | 4 9 HRE wgeE § e
TR € ? 74, T § AfE TTAR F ST FE F o
S ST T wifed forar s wea
(A) factorial() (B) print() Bl '
(C)" seed() (D) sqrt() (A) WH (B) 2
(C) It (D) Sw wsft
Which of the following functions is a built-in ' _
function in python ? Structured program can be broken into
' ' ——______ to assign to more than one
. VY developer.
(A) factorial() (B). print() -
(A) Segments (B). Modules
(C) seed() (D) sqrt() (C) Units (D) All the above
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75. EISSEUH W@ & e e ¥ o o a7y, fHslt Hem % w1 wRf SfRwser #1 w
STIH T ? | w2
(A) TR TSR (A) T feer afiusa
(B) <= SR (B) T afyss dfiwaa
(C) M AR (©) T T SRuww
(D) feamew gEa (D) T w@=ifem SRuser
miﬁ: gf eﬂllli r?iz:\;ﬂ;g Software is required What is a variable defined outside a function
referred to as ?
A) Task M
T (A) A static variable
(B) Task Bar
(B), A global variable
(C) Program Manager
! (C) A local variable
. (D); Device Driver )
9 (D) An automatic variable
76. UEY qHE Toh H&F & I9A i
F U, TTRA R S w1 & i 5 g6 | 7. ST B9 TIE HIE H WEE @ied § O wEe wEw :
R HEA F T ERT | |
(A) pi (A) B % o9 § wEf ot
(B) o™ (B) g
(C) lambda Q) o
D) SWH H ¥+ TEf 3
(D) s (D) & =i gHY Ui
Python supports the creation of anonymous ) :
functions at ruhtime, using a construct called When we open file in append mode the file
e - pointer is at the of the file.
(A) pi (A) anywhere in between the file E
(B) anonymous (B),. end 4
(C), lambda (©)  beginning
(D) none of the above (D) second line of the file
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79.

~ (A).

frefefiad e ®i =Y F 82

M=['b’ * x for x in range(4)] * -
print(M)

[, D, ‘bb’, “bbb']

(B) .['V,"bb, ‘bbb, ‘bbbb’]

! l (C) : [-Ibt, tbb;’ :bbbf]

(D) T & =rE T
What is the output of the following code ?
M=[b" * x for x in range(4)]
print(M)
(ay [7, D, bbb, bbby
(B) [b’,"db’, ‘bbb’, “bbbb’]
(Cy [, by, “bhl]
(D) None of these

81.

82.

e Ses B, Frefafe § 9 fe afwesa &

w9 H uftenfoa 7 foran < o 22
(A) _val (B) val
(C) try (D} =ty

In python language, which of the following
cannot be defined as variable ?

(A).

(€ try

_val (B)

DFY iy

val

funl() ¥t TEl HRE fegawm A dife &4
Freafaiad < Them Hid i Shaarges o
Eagca

fun1(25, 75, 55)

80. fr=fafas #re fole =1 seeye = € ? fun1(10, 20)
from math import * (A) def funl(**kwargs)
i (B) def funl(args")

ef funl(args
b = 3.999999 >
& =380 (C) No, it is not possible in Python
print(int(a), floor(b), ceil(c), fabs(c)) (D) def funl(*data)
ok e Pt Choose the correct function declaration of
(€ 25233 (D) 23-3-33 funl() so that we can execute the following
What will be the output of the following code two function calls successfully.
' ?
e 2 fun1 (25, 75, 55)
from math import * ,
b = 3.999999 (A) def funl(**kwargs)
et (B) def funl(args®)
rint(int(a), floor(b), ceil(c), fabs(c)) :

¥ : ) (C). No, it is not possible in Python
(A) 23333 (B) 34-33 |
(C) 23-33 YD)“ 23-3-33 (D) def funl(*data)
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83.

84.

85.

Frefatad weem Fie #1 ssege 71 2m 2
x = “abed’

foriin x:
print(i.upper())
(A)..aBCD (B) abcd
" (C) error (D). ABCD

What will be the output of the following
Python code ?

x = ‘abed’
foriin x:
print(i.upper())
(A) aBCD (B) abcd
(C) error By ABCD
YSI-%IS H YaTIshY 510 fe@mn
ST Hehell § |
(A) el sug (B) =T She
(C) mWEmm (D) TR

Hierarchy in a pseudo-code can be shown
by :

(A). Cuﬂy Braces
(C) Indentation

Round Brackets
Semicolon

(B)
(D)

Frefeted &1 ez w22
y = ‘kKimn’

. for i in range(len(y)):

print(y)

(A)  klmn klmn kimn klmn
(B) k

(C) kkk

(D) ¥ & =5 T

~What is the output of the following ?

y = klmn’
for i in range(len(y)):
print(y)

* (A). klmn Klmn Klmn kimn

(B) Kk
&) kkk
(D) None of the these

86.

87.

88.

frfated e Fie #1 ssege w0 gm 2

. from math import factorial

print(math.factorial(5))

(A)

(B)
©

120

Fo off fr= =& g

TR, Hors e By deye @ wwine
Tl -

(D) TR, ¥He B+t =T print(factorial(5))
What will be the output of the following
Python code ?

from math import factorial

print(math.factorial(5))

(A) 120

(B) Nothing is printed

(C), Error, method factorial doesn’t exist in
math module

(D) Error, the statement should be :
print(factorial(S))

T foega Wl w5y ERESIGIES

(A) V% ~(B) W

(C) =z (D) IfEm

A detailed flow chart is called as

M)f stack (B) macro

- (€©) micro }Q) , union

T & x="hello” =1 Twq B x.count('l") =l

Y 1 & 7

(A) 2 B 1 %

© 0. (D) = &

Given a string x="hello” What is the output
of x.count(‘l’) ?

L (A) 2
© o

(B)- 1
(D) none
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89. f=AfeiEa TEeM HIe & STSYS 1 T 7 90. UHYH HEA I UEl THIYH gl
def power(x, y=2): 3 h (A) .py (B) .pyth
r=1 4 % : )
for i in range(y): (©) .python (D) T 9 I Tl
r=1%x The correct extension of the Python file is
return r
print (power(3)) (A) .py (B) .pyth
print (power(3,3)) (C) .python (D) None of these
(A) 212
39 91. U U™ Fufes frequrei
. ST |
By 9 :
) o (A) e (B) W™
(C) =R (D) 9= Gt
(C)  bb7
o8 Pictorial representation of an algorithm is
! / called as
(D) ST H | HE T8l
5 : (A) Statement (B) Program
.What will be the output of the following :
Python code ? . (©), Flow chart (D) All the above
def power(x, y=2):
=1
2. Trfafaa wre Sfag smsege =0 e ?
for i in range(y): i i B
r=r¥x import numpy as np
return r a = np.array([1,2,3,5,8])
print (power(3)) print (a.ndim)
int 33
(A) 212 i€y, 2 (D) 3
. What will be output for the following code ?
(B« 9 import numpy as np . S
7 a = np.array([1,2,3,5,8]) o
ke ik
(C), 567 print (a.ndim)
98 (A) O (B) ~+1
(D) None of the above cy 2 (D). .3
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93. feafifn diveser # 1 3% HA & | 95, Frfefea #re %1 seege w0 &2
EER IR
a) wh B) ww - import numpy as np
(C) = (D) ¥ @+ & a = np.array( [2, 3, 4, 5] )
Debugging is the process of fixing a )
in the software. print(a.dtype)
(A) procedure (B) function (A) int 32 (B), int
(C). bug (D) None of these
(C) float (D) T 4+ el
94, Trafafed 1 s w1 2 -
What will be output for the following code ?
=0
while m < 5; import numpy as np
painiga] a = np.array( [2, 3, 4, 5] )
m+=1
if m == 3: print(a.dtype)
break
(A) int 32 (B) int
else:
print(0) (C) float (D) None of these
(A) 0120 (B) 012
(C) 00102 (D) error
. What is the output of the following ? .96. STEEE ST = IR ey oo & fore frg
m=0 IAIEH T STANT Fomam s £ 7
while m < 5: _
print(m) (A) SRR (B) EeWH
m+=1 :

o (C) &R (D) = @ =g T
break Which translator is used to convert assembly
else: language into machine language ?

print(0) Bl
(A) Compiler (B) Interpreter
(A)., 0120 (B) 012 :
(0" 0gi02 (D) error (C), Assembler (D) None of these
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97. fr=feifEd 9 9 wH-9 0% e S ver | 99.  Frafefad 3 9 i & wrgm § 7 fgn dfgem

22 ) hRAE?
(4) fore (B) ¥ (A) count() (B) upper()
) “hgle () et (©) strip() (D) W st

Which one of the following is immutable data
type ? Which of the following are valid string
manipulation functions in Python ?

(A) list (B) set
(A) count() (B) upper()
(C), tuple (D) dict

(C) strip() (D). All of the above

98. Trefafed o ¥ =1 91 TR XU T #re 51 9&gq

ferm men : 100. YA e H RIS FEAE F ARG FH F

fere Freferfn & & femerap sl foan wren @2

>p> f = open(“test.txt”,”w”)

>>> f.write(345) (A) try (B) SH
(A) fim® (B) I C) TE=W (D) ¥=
©) fETw (D) TIHAT Which of the following is used to define a

block of code in Python language ?
Which of the following error is returned by %

the given code ? (A) try (B), Brackets

55> f = “test.txt”,”w”
open(“tes w”) (C)  Indentation (D) Catch

>>> f.write(345)

A)+# Syntax Error B Type Error
-00o-

(C) String Error (D) Run Time Error
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